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Read the following passage carefully and answer the
questions that follow: (Q. No. 75 to 79)~
=  PASSAGE

The road to success is not straight; therels a curve called
failure, a loop called confusion, speed buings called friends,
caution lights ealled family and a roller _coaster ride called
jobs. But, if you have a sparc called -determination, an
engine called perseverance, insurance called faith and a
driver called God, you will make it 1o a place called success!
In spite of all“our planning and prepu"‘nﬂnnf unexpected
challenges are certain to arise. The bumps in the road are
unavoidable, but you'll never get to your destination if you

aren’t willing to drive over them. The différence between a
disaster and triumph lies in whether or noyyou're preparcd

and willing to-weather the storm. If yaure ready, those
bumps will become stepping-stones.

The key thing to realize is that working harger is the same as
working smarter. How do you work smarlef? You just need

to have the right skills. People want im circumstances

and better life ithout an improved self. THey want victory
without paying the price or making efTorts. It really cannot

ﬁ happen without the other. Any improvements thal have not
"4 been generated by improving yourself are superficial and

T3

The President

(D) Prime Minister
() Questioh not attempied

~D

72 Rajasthan State Human Rights Commission is comprised

of
7" One Chairman and two members,—
(B) One Chairman and four
(C) One Chairman and six members'>
(D) One Chairman and five members;”
(E) Qu:sl}un not attempted

The Judge of the High Count is appointed by:-

he President (B) Hdme Minister
(C) Chiel Minister ) P:‘Ini'l‘{:‘hﬁnistm
o

() Question' not attempted
74 In Rajasthin:

- o Languriya® songs are related to which God/
‘T Jeen Mata (B)
(C) Kaila Devi

(D} Shri m L8
(E) Question not attempted X el
| - G
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0
itude (ot chaneeyy
ceand ! 1 :
I:chulisti‘-'- and positive attitude to

< not restricted to some
2 m'ﬂ,r premises. |twassumes the
plete act executed with perfection;

do not definc life. We don't
yars for the products tl'ley-.e{durﬁ: but the
represent. The 4bundance of a

em -
underline the deur of a triily rewarding

guecess can be ured from tWo standpoints=the external
. _Externally, it is the meastre,of a job well
ition. Internally, it is' he feeling of
achievement and wholeness derived from ¢ completidn of
a task, or the ful filment of desire.

75 In the passage. the phrase «willing to weather the storm’
means:- (Choose the mmost appropriate option. from below)
(A) Beng able to step out in stormy wea
(B) Willingto face or deal with a very di
(C) Willingto go fora roller coaster ride.
(D) Readiness tomake adequate arrangemients to deal with
a stormy weather.

(E) vy

Question not attempted

76 Choose the most appropriate option 10 complete the given
sentence. = '\J
Bumps become SIEPPING stones when .
(A) one is willing to drive over them.
(B) oneisable to dodge them. L
(C) one finds an aliernative route. O
(D) one approaches the authorities to level them.

(E) Question not attem o
77 Choose the most appropriate option 1o cnm[;ﬁ:'tr. the given
senience. F
Difference between disaster and triumph lies.in" .
(A) sulking a little but moving forward.
(B) facing the disaster collectively.
(C) taking some more time to analyze the risk in tackling
the disaster. * oy
(D) willingness to endure and overcome the-situation.
(E) Question not attempted

ult situation.

-

7 i Eaa ;
8 Which of the following attributes does nntqgﬁm success?

(A) Those aspiring for success do not viol the rights of
others. .
(B) Ttis the outéome of our attitude. ov"

(C) Success is a’matter of chance.

(D) Buccess means hovi i

ving a holisti it 2
ﬁ towards life. g o holistic and positive attitude
75 (E) Question not attempted

CEF1] &2

happen without the other. Any impmﬁ'ﬂ“e“ts that have not
been generated by improving yoursell ar¢ fEPf-I'ﬁﬂial and
rﬁ short-lived, If yol want to have & better futif®, You have to
M change yourself. Stop worrying abopt the vafious challenges
that will come your way. Just baf{wa in ;’_ﬁ}“'ﬁﬂ]f and use
them as stepping-stones. # ,««
*Success' is getting whatever you wan! out, of life without
violating the rights of others. It is not an aceident. Success is
the resull of our attitude and our attitude is fiﬁmim Hence
success is a matter of choice and not chande.
Today success represents a holistic and pasitive attitude 10
life. Attitude is everything. Success is not restricted to some
kind of brick and mortar premises. [t assumes the

individuality of a complete act executed with perfection;
material achievements do mnot define life. We don’t
[ but the

remember sports st
it of achicvement they represent. The abundance of 2
positive attitude underline the grandeur of E'@ly rewarding
rich life. g "
Success can be measured from two standpoinis- the external
and the internal.. Externally, it is the measure-of a job well
done, and recogpition. Internally, it isQ’!}B feeling of
achievement and wholeness derived from the completion of
a task, or the fulfilment of desire.

i
Fmrt

75 1In the passage, flic) phrase ‘willing to w%ﬁfér the storm’
means:- (Choose the most appropriate optiqﬂ,ﬁom below)
(A) Beingable to-step out in stormy weathers
willing to face or deal with a very difficult situation.
(C) Willing to go for a roller coaster ride.”
(D) Readiness {4 make adequate arrangements (0 deal with
a stormy weather. Y
(E) Question uugnuamptmd o
76 Choose the most-appropriate option to complete the given
gentence.
Bumps become stepping stones when ;
one is willing to drive over them. R
one is able to dodge them. O

(B)
(C) one finds an alternative route. o~
(D) one nppmnc';héa the authorities to leve “them.

(E) Question not attempted

717 Choose the most-appropriate option 10 complete the given
sentence. i Y,
Difference between disaster and triumph ligsin __—
(A) sulkinga little but moving forward.

(B) facing the disaster collectively- :
(C) taking some/more time to analyze the risk in tackling
the disaster. @)
VGB'J" willingness to endure and overcome thl::situatiﬂm
(E) Question not attempted a;,

78 Which of the following attributes does not define mﬂ-‘“’ﬂ ¢
(A) Those aspiring far success do not viglite the rights ¢
others. ... -
(B) Ttisthe outcome of our attitude. Oy
Success is a'matter of chance. N !
(D) Success means having a holistic and positive anit®?
towards life.
"™ (E) Question not attempted
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101 How many meaningful words can be form
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ng-the first,
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(B) Four ©O

One

the second and the third letters of the word
F U L' using each letter only once?

—_

Three
(E) Question not attempt -
Below is given a passage followed by several possible
inferences which can be drawn from the facts stated in
the passage. You have to examine (edich inference
separately in the context of the passuge, decide upon its
degree of truth or falsity and choose your answer
accordingly from amongst the alternatives provided
thereafter. (Q. Mo. 102 to 104)
Wind is an inexhaustible source of energy and an
perogenerator can convert it into electricity. Though not
much has so far been done in this ficld, thﬂsurvc:,r shows
that there is a vast potential for developing wind as an
alternative source of energy. On this basis, U:P.'s hilly areas
have been found to be an ideal pln:nﬂiﬁr setting up
aerogenerators. In U.P. hills alone, as many 25756 sites have
been identified. -7 e

Energy derived from harnessing wind is@.comparatively
new and emerging field. (Choose the most appropriate
option from below) -
(A) Probably true
s 27 Definitely true

(E) Question notattempted _
103 Wind is a source of energy, which can ﬂ:pggc exhaustible

sources of energy: (Choose the most appropriate option

from below) )

(A) Probably false)

(C) Probably true-,

(E) Question mé'l_h_ﬁumpted =
104 The survey was.conducted by the Government of U.F.

(Choose the most appropriate option from below)

(A) Probably true Probably false

(C) Definitely true (D) Definitely false

(E) Question ndt attempted ¥ = I
105 Pointing to a man, Rekha said, “He is thé brother of the
daughter of &lt:*-'.:j.iifa of my husband”. ELuw is the man

related to Rekha?— o~
(8B) Husband®

(A)_ Cousin "
Son LS/ (D) Nephew-
vy

{E) Question not attempted
Study the following information carefully. <"

. ‘ASB means ‘A isthe mother of B~

II. ‘A f# B means ‘A is tho fathcr of B',

1ll. ‘A @ B’ means ‘A is the husbapd of B’ -

IV. ‘A % B’ means *A is the daughter of B’,

Which of the following expressions indicatés’p is the sister
of Q'7 iy —

(A) PSM@N#Q

102

(B) Probably false
(D) DEﬁnitclL,fuIs:
-y

Dl‘.'ﬁn’:tnf::}h'im
(D) Dcﬁnite?:.:»_{'alsz

—

106

-
(B) Q%M@PSN
P%M 5 (D) QSM@N#P
(E) Quecstion mt_nﬂcmptwd s U
107 If*‘DELHI is coded as ‘FIRPS' ina ccﬂai{:udg languags
than how will you code ‘JAIPUR' in the same code
language?
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printer
(c) Monifor’
(E) Question’ -
111 Which of the following i not an example _ol'ctnud storage”
I Drop Box (B) ©One Drive
= (C) Google Drive
(E) Quﬂﬁgﬁjmt attempted
Which of the-following
used by major ior :
(A) Database Moderate Language (_Ebﬂl..}
(B)
(D)
(E)

113 Ethemet card is al

;;l New Interface

(A
el orky "

(D) Nﬂwp]‘k-_lnt:rmmmnu Card O
(E) Questmn not attempted .
(Choosg-the most appropriate

(A

Object Query
Question not attempted

5o known as:-

114 What is Data:transfer rate?
ﬂ-!]ti.llﬂ from IbIFII:IW] -
(A) The number of bits transmitted-between regi
source in 5 minutes M e
) The number of channels available” §
The number

(C) The niimber of register travels -\*.
\ ﬁ of bits transmitted betwe
destination in one second soure
(E) Question not attempted

3 e
o and
115 What is the full form of GUI in com O

puter ¢

(A) Graphical User Intermediate Brmiuﬁlgm

(B) Graphical User Interconnection )

(C) Graphical Used Interface &
Graphical User Interface —
(E) Question not attempted Yy
116 Which of the following i Ov"
(A) Mac OS5 i n“:ﬂ“;l Operatyy,
Li“ui 8 5}'31%
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of the following shortcut keys IiSEr 8 hmﬂhkh

M']Smgm“f;c @) Ctrl+MI~
W {g E;:H () Cul+DO.
i EE} Question not attempted . ;’,«
118 Which of the fulllqwi??g is mot a mathem&:;;ﬂ ﬁ"‘ﬁ'hw
spn:adshwtfpi';fl}ﬂ Exce S
fzg ?ltéhL;IND(} (D) COUNTO.~
(E) Question not a_ttcrnpted )
hiuh among ﬂ;;.-. f::;l:luh\:a{risng fl;zi?is used for %g
ellin .
g i g NS T
/ F9 . (D) F7 e
(E) Question not attempted ,_‘_',-"f

120 A rectangular ground is marked b)r pa'in‘ljrlﬁ three of 3,
sides. Ifthe length of the unpainted side is 13m and the g,
of the lengths of the painted sides is 5'?mr5h_en the ares

the ground is:- - __ .
(A) 741 m? \}ﬂﬂﬁ m?
(©) 280 m? (D) 176 m* ™~

(E) Question not attempted

121 The water level in-a rectangular tank with a.base of 40m «
30m is 6.5m high, 1n how much time can m‘;zénkhmpm
by a pipe having square cross section of sui}lfg,?.ﬂun. if the

% Farad o T v TR S water runs through the pipe at the rate of Skm per hour?
5)}(( (A) 36W (B) 45%% D::. (A) 36hours -/ (B) 45 hours>
y © 4R - (D) 9% {? 40 hours Bl ¢ L Pr”39 hours
) waehass [;\-r (E) Question m_:n_t attempted Yy
122 TRTE e 60% 60 F st T IEE QR 122 1f 60% of a number is added to 60, thenthé resultis e
'I}',;‘ AR TR o et s n;.:mber itself. The number is:- 6-0 +- i ;t.l':,“ L L
% (A) 160 (B) 180 Eﬂi :g’“ (B) 180 (0
L5 © 1 D) 150 o 228 G > %
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© 5% 0 ©) 15% W B ol
% T r . 2 —
- {:73 TR v fij " (E) Question not attempted ) 25% .
000 ﬁuﬁtm 1 4 A sum of Tea v
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W) T 11649 Q years will Become: - O 115€lf, then the g sum '
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© W (D) Y mi Kumari Ch 5
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129 ot ) w0 128 In Rajasﬂlam v .
mmﬂgﬁ;ﬂ a9t f,.. ormament i;i;:::';i' gold 1ail betyee
(A) ﬁmm!i;"“"qm?hg? eyt sifiemd, s = ( Choonp’ : e n the teeth as an
(© = ik —J__,.. 'R ) Borla' (B) B P
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4 o7 SR 137 Who succeeded Aurangzeb in 17077
g : mﬁ“‘m'é “I (B) e @@ (A) BabadurShahl  \ "] Mohammad
:c: -l (D) el ErD %3 (C) Bahadur Shah 11 (D) Nasiri Khan
» i Pl ; (E) Question not attempted v 7
araia . - "
E mm.mw e mm%mm 138 Rangpur, Lothal, Prabhas Patan and- %%
13 3 &0 Yy archaeological sites are found in which mtc?
o) & W= mr; v (A) Punjab (B) Mﬂdh}"ﬂ-\?ﬂﬂuh
s o 31%5[ jarat (D) Uttar Pradesh
= 3 S (E) Question not attempted
. 4 139 What name has been given to the tools of Mcsnlm.
x 0 “Aw
139 eI 31 aﬁjﬁﬂiwmﬁmwhj (A) Lunates (B) TrapezesJ
(A) TeE . (B) 3O o \J#' Microliths (D) Handancsp
(C) wTEmieTes D) Fewm 5 (E) Question not attempted n{ :
(E'_] o= - -~ = ’ et
SR f;\/ @ Who coined the term “Neolithic'? vy
140 T 3752 BT O (A) Huns (B) Kushands {]'
(A) ™ ®) Fo (€) John I'.itncérd (DY John Lubbidck
© SfrEE ©) S —j’_ (E) Question not atlem;:-ted
(E) a@f@[m = O 141 ‘India that is Bharat shall be a Union of Sl.aulc.s“ The word
“Union of States”
ok m%ﬁmtnﬁﬁﬂmmw:mm- Whlm;mw was adopted from I]:chmmmnf
= . o~
w%m%ﬁmwm K 3 (A) Canada (B) Switzerland
(A) ===t § B) famwdE v 8T us. - (D) France (7Y
© 3w ©) Wi D\‘:}" () Question ndf attempted oV’
() i@ @ Panchayati Raj is included in the:-
1 ST At (A) UnionList (B) Concurrent Lis
(a) @agh ®) © Swelist '\ (B Residuatypove:
© AT o) Ilﬁﬁ (E) Qucsunnnntaﬂmplad g 'f'
(E) ﬂﬂiﬁi‘lﬂ . Q’:: 143 The calligraphy gfll‘r: Hindi version uftl'u?a:igim! Indian
Constitution was done by whom? 3
143wt wifaem ¥ e w6 e i fénm; (et M Vasant Krishna Vaidya 'I‘:
forss g 1 v oy B) R : =
\J (B ammnnﬂha_:_smha W
(A) =% sy 3 (B) ToeEE R (C) Usha Nath Sen
©) Imamax D) mﬁmm (D) Alladi Krishnaswamy Ayyar % i
(€) wrpmhaes D, (E) Question not attempted @
iy R =
a4 Sﬁﬂﬂﬁﬁ%‘ﬂﬁ ﬂﬂﬂi@ ahtzﬁ;m—,ha'ﬁ"h 1 frramt 144 After walking for'5 kms, | turned nghﬁ-nd ca"'”;d 5
‘i““‘taﬁﬂﬂmmﬁmi el distance of 2 km, then turned left and coverad a dist®?
ﬁ"‘*ﬁmﬁﬁ ‘ﬂm!;mﬁr ﬁ@tﬁmw 6 km. In the end, I was moving towards thé Werth. in Wb
(A) zm ® o ‘"\’; direction did 1 stirt the journey? ov"
R{q - ~ North ~ “ ®) Bat
e (D) =g (C) West (D) South
QE?I'I. &y (E) Question not attempted
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Imput: History 30
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oy 1: (10)History

(9 wwTeR 145 % 147)

e

win gd 80

et3- 10 20 History 30 Maths 40 Sarfskit 50 Chemistry

Economics o
ST A
Economics History
= 4:
History Maths

SRS : 10 20 30 40 50 Chemistry Eﬁnnamim History
'1II

Maths Sanskrit—
Ty 5 S = i = R

ST T T 3 ST,
Input: 55 11 Geeta Babloo Radha 33 oﬂef‘h 22 44 Pinky

145 Frefofaa da @@ aE 2 o
11 22 33 55 Radha 44 Pinky Bablog Geeta Omesh

(A)
(B) 1122 55 Radha 33 44 Babloo Pinky Geeta Omesh
(C) 1122 55 Radha 33 Omesh 44 Pinky Babloo Geeta
(D) 112233 Radha 55 44 Pinky Babloo Geeta Omesh
(E) Fai@wd . 1 bete =
146 =T 4 7 +33° 3T * Babloo * F 4 e T2 §2
(a) @ ¢ (B) = -’/.
(© = i ® " ©7
(B) wrgafa s -3 -
147 w:ﬁﬂ#ﬁ%’*hm&n‘ﬁrmmﬁy
(Ay Mai (B) wr=aiov”
© s €5 (D) e
(E) Fafmws
148 A,B,C, D.E,Faﬁte‘maﬁ#mﬁaﬂ'{hjﬁaﬂtxﬂ
%ilﬂ,c#ﬁia?n{a}mm#m%lcinﬂ;ﬁ et
T T ASt B . G aid S et s e G, B
Wﬂﬂﬁiﬂxﬁmmﬁkaﬁaﬁtﬁmmﬂmi.ﬁw
& i i gt w4 &7 o
(A) E (B G -,
©o Y ® A 2
(E) i wa - Ty

149 WEZFE M. N, 0, P, Q, R #fit s Fae i (e i s o
vy i &% (st et R et e 6w R30S ¥ ol A
Arofr A3 8 S, N % A & ZE T T A 8 P, O Fad
et w2 3T By S v N 5 dre o e Q ¥a BN 9 &
mﬁﬁ““hm St Py 3 @ i dfh & S Jr=

arema &Y 3T I0S
F1 U SEEdT uaii § # T
Maths 10 Chemistry; 20 40 Sanskril

.l :
30 Maths 20 40 Sauﬁig?t Economics 50

10°20 30 Maths 40 Sanskrit 50 Chemistry

10 20 30 40 Sanskrit 50 Chemistry Economics

: ich of the following is the Step
(A) T

149 Seven persons M. N, O, P, Q, R and 5

Study T0C IGUUWINE IIITITEUNE Gl Gy ana suavres
the questions based on it. (Q. No. 145 to 147) '
A set of ‘words and numbers is “passed through an

& arrangement machine and the following gement is
obtained: o5 T
Input: History 30 Maths 10 Chemist 40 S '
Economics 50 - o M Smsit
Step 1: 10History 30 Maths 20 40 Sanskrit Economics 50
ﬂhemislr}" —~
Step 2: _lg_gﬂ_]-ﬁstm 30 Maths 40 Eﬁr’lskri: 50 Chemistry
[Economics ov
Step 3: 1020 30 Maths 40 Sanskrit 50 Chemistry Economics
History .
Step 4: 10 20 30 40 Sanskrit 50 Chemistry Economics
HiS—th}" Mﬂ‘hi —_ ".:f
Step 5: 10 20 30 40 50 Chemistry Econdmics History Maths
Sanskrit O -
Step 5 is the Jast step of the mnngqf
A set of words and numbers is given below. As per the rules

followed in the above steps, answer thic fuestions based on
s

it :
Input: 55 LI Geeta Babloo Radha 33 Ormiesh 22 44 Pinky
v

e a et
=0y 112255 Radha 33 44 Babloo Pinky Geeta Omesh
w 11 22 55 Radha 33 Omesh 44 Pinky Babloo Gecta
(D) inky-Babloo Geeta Omesh

5 |
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(E) Question not attempted
thcr%bemem *33" and
Ry

‘Babloo® in the step 47
M‘Thm:._-fn:l

{C) One [53. (D) Four—

(E) Question not attempted e
147 What is the position of ‘Radha’ from the left end in the

step3? - r
(A) Ninth= 0 Fifih.
(C) Sixth (D) Fourth

(E) Quﬁsliq_l} not attempted

148 A, B, C, D, E/F and G are sitting around a circle, faci
centre. B is‘_s_::bund to the right of C. C33 third to hl’i":_'in% the
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neighbour of B. A is third to the left of E, then who { mediate
to the right of F? A 015 secong
) (B) G 5
D) Ay
O
; 3 a1 sittine :
line (not necessarily in the same S ng in g p
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seated between 5 and N. N is seateq . elleft of O, Dnltcund
tthe ©Xtrem, YQis
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exactly in the middle of the 1?:5? thmlfgunwin; fight eng
H o - 13
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